dE/dn [GeV]

Total 1/N

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

7000 GeV pp Soft QCD

[T | T I T I T I I T | T I T I T I T I T | T I I T I T I ]

220 — Energy flow(1.9<n <4.9) =

200— ®m LHCB —

— —— Pythia 8.308 default _

2180 [~ —— Pythia 8.308 tune-A14-CTEQL1 _

~  ------ Pythia 8.308 tune-A14-MSTW2008LO .

160 — o Pythia 8.308 tune-A14-NNPDF2.3LO ]

— --+-- Pythia 8.308 tune-CUETP8S1 _

140 — ]

120 - —

100 —

80 —

60 —

40 —

20 - —

2 B =

o [ E

O

0 - ]

T e e ]
e 1 —= NS e ¥ o

e T r T ETTTRTg B

“C—G‘ ------ ]

m | —

0.5 — .

| L L L L l L L L L l L L L L




	Contents
	Page 1


